\
\

Adder S5, ;oairs)




3285 Caanss (538 sleb] .2

539> 0295 Elgil .3

53593 (3295 83515 oS5 by Elgil .4
L,S'))Sb 0.3959143.6

L,f.))gb 295 Sy 7

W02 )31eWeu’ MMM




jl oslatiwl (a5l wblas piwun (L))l 9 s sl (i) 1 X2
b1y )5 gy (I Cblas (o @ivaw b ST .cuwl (53)95 (1205
Al oidd |y (5395 (61 (195 pU ek i

OR9S Ca>ldy 9 uad 6950 (g (SL R g Gl S) o 0351 a5
2o LT (55392 glo

T (553)95 (y295 1#

(61350 Sl 4ijo H1a5 5| o y8 55 595 e 2 G5 )

G (295 .l pgo )luwn Slgo () 9 (55395 4 bgaye yaasi g

02l 9 W5 50 pol)s b )5 (gl gy ) 9 plj)l ()l s
&S 0j1351 Y390 y9b ) @iunun (19)> (5392 B A5 (50 ol ) (ISl

g

)3 (§diajyl leMbl (4195 (50 (Jw yd (1395 (553)95 (Hljuo s3> Lie L

L JS 0151 o 55 3ilgT (50 (638 (sl ()95 .15 &)l Slgo yac 3)90
g didbe (¢l 3ke ,o U



HFRR Double Sided Disk and Ball HFRR Single Sided Disk and Ball 3"« 1/2" « 1/16" Standard Coupon Pack

]
T
M
-
|
' )
,,,,,, [ TM D7671 Pure Silver S ASTM D7667 Pure Silver Sy

5295 1295 ©j9 LRRLS LT 1-1#

HAUT 1231515 55 (553,95 @lals 39Ty (hg) )5 )1k 9 )5 edlw
390 FWT L 316 5l oads (2j95 (295) B9es S Cawl yj9 oS

o ldy cunlio (53loj 85 S I G 9 39 (50 IRTYS lg (52
G 139 )L9> 9 o3id S (55395 W)l plad 51 (agS Yue .39
g

0 98 (50 235 (ML) 518 <l Ly (CR) (53,95 pljae 4 o9 LiolS
02 S

_ www.namatek.com



Corrosion _ Weight loss (g) » K
Rate (CR) Alloy Density (g/cm?) « Exposed Area (A) » Exposure Time (hr)

Calizeo (glA=lg 53 (553,95 (yljae duwle (glp (ylgs (50 1) k Cols

R )..u.Q.)
Desired Corrosion Rate Unit (CR) Area Unit (A) K-Factor
mils/year (mpy) in2 5.34 x 10°
mils/year (mpy) cm? 3.45x 10°
millimeters/year (mmy) cm? 8.76 x 10*
Metal i Weight loss (g) * K

Loss (ML)  Alloy Density (g/cm®) * Exposed Area (A)

Desired Metal Loss Unit (ML) Area Unit (A) K-Factor
mils in2 61.02
mils cm? 393.7
millimeters cm?2 10.0

L (295 SO @ .3)135 L6 sduzy sl gy 9 ©ljaead 4 Gog) 2!
032 ORGP pieke (gl dawg 9 (1295 63513655 comwlio JSib
0392 a8 pg) e (jg UL (655 )11 313 5L (59,95 Wiyl
] (553)95 bl (a5l D9y R 2B plized

_ www.namatek.com



5295 (1295 35 j2a5 9 (g5lw o3LT 2-14#

4> @3l I Guy T ©3)5 jaaS 9 0295 4yl aaed gy LB
S 6315 (6355wl @go jluw Jubo OleMbl (3,91 Cawd

o () 5l cudlho 4 o g lo WSS al 513 Cwlis 4 po (459 VoS
Ll Golbns ) Lww

S (295 Bhw (93)5 jaad 9 uBlsy 3)90 > Yy OlLdj= sl
9 RP-0775 (sloo;lastim] &0 L (Wlio ¢pl 7 (i) o9 gholS
3g4s 42,0 NACE ;JASTM G-1 & G-4

5395 (295 (6165 gl a5 3-1#

9 Gl o (95 ki (glp (VCI) )l 553,95 033155 (o awsS
)30 33 B (53295 VCI (o dusS b ki e )by Gid] jod
2> Jlo SO B 20lg5 (50 (haame canlio kil 53 (51345

Las 3 ailg5 (50 ju o GinlejT (gl 6315 . 339 cdddlxo (553,95



?L,fa)g’pwl).? 1-2#

& o j1 o g o plol o Niz @) (5395 6o Glej]

GS29> 0550 3)90 )3 IS W3 sl gl @

Bl 53 )50 63le @ s FWT G Cuoglin awplio (gl o
3135 Liwl

FWT 306y CadsS JyiiS cams S glgic ) @

G2l Ol 3abe yac (e ghy (lise )5 pold gl

Before & After Coupon Analysis

5295 (1295 S 98j] (so9ac Lol 2-2#

a5l .09 (50 Jlael (295 (& s 4o (gl Ololl (>
O 2L (95 .39 il b (1295 )d 39290 9o (3] 9 (liesdd

_ www.namatek.com



diga) )3 39290 (Gl A bwgi Ygano g (Hosuio Cabo jgb

UJ9S (9.;9.) SleMb| d.».Q )’l UJ9S L .bg.g)ﬁ SleMb| .)94;.) (50 S0
0)9 <0295 Sl (ST 9 S5 Bluogias (o luasid azi)l)
0220 )3 38,5 )1)8 (yloj g kaylyid ¢ Joeo gl chw Cudg g dlgl
D9 Cad (58515 Gl 428 SO ) buso

(295 s s Elgil 3-2#

Oliagad 5l gl a4kl (Jlais| Jube yac 3)g1p 53 diadj)l sl 831>

1wl 3g3 B Goyb Yzl g3l

L =8ly (Sllec )25 jl ©leMbl (1)5)riz0 1 Slilac 4925 .1
s . 39 (50 39T lio gy )3 39290 Wljagas
(50 03laiwl Cuadd )5 g 631 «S)j 293 vlgic 4 Oljags
dS(_,.olij_(b Uy L Cawl ..\.359 Al Oy s Ui’9) o2l .)94»
b 5L 3590 85lo (padiz (g odld>

28lg Oliugad Wljlge 4 83 uad Jdo Wliug=d 1o Wljugms .2
L5 (SleMbl 4195 (5o ((AiilejT SL5)15) S2gS wlide )5 b
Juol> plizabl 1L L3S 3 gl JolS pobido jd Oliagaxi b GUae
Al 03 (g5l A (Siw)d ) pgo (gl yuRio 45 dgu

sl 3515 L8 (Sllac ©liagad )3 &5 (R (295 1 Fle (295 -3
(5925 O & (195 394 B> 1L . 35,5 (50 )])8 edlasiwl 3y90

“— www.namatek.com



B Jolxo )6y20 )3 &S (R (195 (@ BinlojT (295 4
ilefT iz IS (5o 355 |y (s leVbl (o Kdulef]
ol 1) (55395 53 3B (Rlesd Ol 56 asllhe 1Sl

ASS (50

Croglio dlaz jl ibyiinn sl og) 15kl el sl Uy -5
09y )3 X))l OleMbl (ke Gouwlin)h Swl 9 Syl
i pglae cad S 2ilgS (5o W (T LAl (55395 GinleiT gl
Sy sl o jl plos 5o priead 3 Sl 53,95 pliae
35S o3l (553,95 (5l Ew e

5295 295 Elgil 3#

o o3laiwl (63le (5l (195 ;| Ll ddual Cugivo daz jl 3)lge ST >
Hh8 exlaiwl 3y90 (698 HLind (gl ngS)S 9 Cal) Cagiwo ) Lol . 23guw

039 VB o Gialeil )3 (53)95 Lo 28 jI IS Hob @ 33,5 (5o
g (50 63akwl

Aplgds (yaizxa 9 (585 (e Wigid QLD iy 4 )51 o (525 o
0313 4105 (5l . 3@ (50 Ayl |y AT bauzo )3 (5395 E55 5l (58
9 glaw 0513l (JSb (ghl> 2L e LIRDI gl (295 yIyST B sl

255 51 45 39 aidls (GHLIT 51 3L 1 (395 .31 lwiSy bl

AL H5 3)90 A8 Wliagmd duw aaS)s

— www.namatek.com



)P 539> 295 1-3#

23 Sy Ehw (5)l95 (295 (295 €95 R b xhw 4 azgi b
g3 WlgS> s 3olive (JB g osLi8l Glasl T pdow )5 (53,95

A e T A A
o S LR R

52982 )l U ()9 Yl dusle )3 (555 @185 ali (5)lg 295
ol )50 gl 295 5 yidn ol ax= j 351

695 @) b 9 Vg (50 ual Cab> )90 @) Ygeme (5)lel (L (295
il (g5lge oLz ez b &S Bgw ;0 g !

| dhso 53,95 (295 2-3#

(En wlive) 3w )15 09j) yu S b (Rl Ao JSib 4

“— www.namatek.com



038)5 )h8 humo 0y 53 loj &S (B> )3 Ygemo (gl dlro (1295
33y (50 0dlaiwl sl 03V (63U

a3 (S35 (205 3-3#

o Wl dgl o)la=> )3 &S ) Ghabds Giol) 4 BlgS (oo s (1295
gz ) b o ¢lgd 5o S0 o 0295 B>y S (gilw auin vl

“— www.namatek.com



D) (553,95 (295 4-3#

851351 )3 1o Ehgw 1 (gl degamo b JSb Jukime 9wy G (1295
cuas (6)lgs 635,15 &S5 Vgamo Lgw) (sl 0293 - Miwd walizo gl

359w (50

JaSiis oS Cwl (o 330 b dgl ) odlatiwl (] 5295 Eg5 ¢y
oS (50 92 9 Cowy

834 6313 HH9> (553,95 (39S 5-3#

Oglatio 034 631> gz g diwg WIS (0 Wlgl (0 (_,3.5)9.’9 Oljae
395 )18 Gy 90 Lalyib 93 50 ,lid) 39 (50 awogl Galply bl
38 (Lo)S 51 cus didhio (sbol Slge (sw)p Jold 1L wlellao

D9 (50 WIS oy k) 9 (5) B2

— www.namatek.com



)3 5aee Jolge Blg5 (50 0)Lyw (R 9 )Ly KL= «ygamwl S|
A ©lHls (53,95 )8,

Aal)d g Colzus 1L o3latiwl 3y90 (5l (1395 (JT o3l Cdl> >

Ak @il Sy (g)Sibgz

— www.namatek.com



Lo SO b (A HLikd a5 303 (50 &) (Sloj Hlikd s (;53)95
S dlaz 83ke S g 80 LS)T 035,95

PIN TF2445 PI/N TF2404 Stressing Frame
3-Point Bent Beam Assembly - ASTM G39 with P/N TF2447 4-Point Bent
Beam Assembly - ASTM G39

P/N CO303 P/N CS500 P/N CS513
Twist Specimen Tear Drop "C" Ring - ASTM G38

P/N CS502W (Welded) - ASTM G58 P/N CS502 - ASTM G30

. v
) o
RR
. g (Radua)
storcing
locasen
1l regumed)

2 W' D (Hole Duarnoter)
Cantraity | ocated

w -’
v

L ¥ ~ 1 ue

9 )lid s (gl dlg) (gjlw 05053 (50 )3 (53)95 E95 ol LilejT
s s YL g (b (5)91)8 (5l 515 )5 Vgane 45 (loyglis

(Sl 3,05 (50 )8 e3lékil 3)90 (sauidg)h

— www.namatek.com



(ine) Eldgas (55395 (p39S 7-3#

SiS OT 1 ishamo 0 55 Loy Lo punil)lg)Sae plw g lo (5y5Sh
3ilg5 (50 1 @SBl (] L339 (50 CBL Pl 49y U i8)S 6345
O 4 G55 3)Slac p LlgT (50 45 Bgid (salidgn JuSudd 4 y=xio
S} (Glo (S0l b (632 (532345 pludgn 313 ke 5T
] il g GBI (Sl

h GHhe o Jase aile (1 @iuun (S Blg3 (5o plibgw JuSuis
sl (553595 Uy Gl (1San (pisad A3 Gl (6oL 3> U
@ 5238 ol s 155 150 45 3535 (MIC) S255lsagySan w5

G Szl (939 (h 9 Cuils 4z )3 g WljgS g (S dy)
S

S (50 ()90 |y Ledb liamun )3 @lidou JuSuis p ©)Ua5 whbs ol
o9l (553,95 (1395 8-3#

G GialoT (gl dlge yge Ol > SaS (5l b (3295 o2l

— www.namatek.com

g (50 03lakiwl (6 0giw



(99)92 (295 835,15 a5 aly £loil 4#

Col5 0351 a5 AL 1-44#

EP 025 LaiBl g ()5 Jglaie dgl 5V (295 (Sl 035)1> 55
dig5 (salize dlgo I 1) o 4T HlgT (50 9 Cwl 83w o (T Cua) . S

o3laiwl o (5L (sl @i L Ygae (195 (Lo 6351355 ¢l .35
35,5 518 50 3Ty (S dlg) 5 Laudiune Ailg5 (50 Lol g (50

xS (6 (5395 (5l ol 01515 &S5 e

— www.namatek.com



! Glgiwl (5o (1395 (glp Coli035)l> &5 o



—~— o ——

Ealai5 o8 63515 455 by 2-4#

L o2k )Wd Glo piuwaw jl plg3 (50 PSI 125 )l slo)lid (gl
Gb 5l cuad (gl Ol ddua’ cumivo )3 Ygano g 3,5 83lakwl (Siuwd
D9a (50 83wl dzx)d SO

« 3/4" or 1" Adjustable

LL* l"\ Mounting Plug Knob for Hand
Insertion Rod Insertion of System\
" =1 |\
)2’
52
Coupon Adap!ef = 53
Jﬁ/‘ - Safety Cable
2" < Std. Length -l

— www.namatek.com



P (i a5 Cunl (b T Jhay oliunl )3 330 ol jI i

019 Raz> 83515 455 4Ly 3-44#
dSAj)ffbA)IﬁOJLéjwlb)gpbngbﬂm)b&gSgwtsLmW

AL aldld 3929 i LW g Cuwl 3V psi 2000 U (gab as)s

Knob for Hand
Insertion of Probe

r— 3" - 1" NPT
[ r’. , { = 3

Coupon 4 {

Coupon Adapter Safety Chain

— 2" < Std. Length -

Adapter for Easytool ‘{ | |
Insertion of Probe

b Haw Gugels 4y o (1295 Cuwldy b cuad gl W Ehiwaw ¢
3 (593Lal a5 51 (6 )aSols (gl (el P SO 355105 5L (aiuT)s)
39 (50 4i8)S Has

2LL BB o a5yl a5 auby 4-44

55 3y90 pSi 3600 U jixd az)s o ()T ) 45 394 (50 63wl MH

— www.namatek.com

Cawl



Ladder Strip

Flush Disc
Flush Disc Strip Ladder Multiple Disc
P b 7 S
A LI A1 LI Al AR
D) gl OBm el [EBm el | [OEm_emiEl
I A ¥ 3 o N P il
il
.u._:_;l:_,.A_” A..:ﬂA k'.A FOCIEERE”
or
ik
1
1

)L) Lﬁ%)b 0.395 6&3)‘&@ 5-4#

2 03wl DIN GL 45 &5 L "Schott" Loluulel sl 5yl L
ol COTT18 Suw a3 3)l35Liwl (5265 (2) 93 (ghl> .39



ol Gl ol 9 (1295 13)5 )lgm johin ) (55395 Camsl S )
Angb.owlome”)bd,oLcub.pr)bloMM)gdeLm

walizo (W 3 (53)95 ;50 0920 (L))l (553,95 Cuws s> )

3 Cawl ()0 45 A (50 ST (1295 Cdl Vi I 4y ) 5l edlasiul

LAD)
— www.namatek.com



20

1/4 - 20 Hex Nut

A
(&)
‘=,

1/4" Flat Washer
Shoulder Washer

U-8end Specimen
1/4 - 20 Hex Nut

114" Flat Washer
Insulating Washer

Flat Bar Rack

Shoulder Washer

1/4 - 20 Hex Boll

1/4 - 20 Hex Bolt

dg) b3 4 Jlail S,

__ www.namatek.com



14 - 20 Hex Nut

1/4" Flat Washer

Shoulder Washer

174 - 20 Hex Nut U-Bend Specimen

1/4" Flat Washer

Insulating Spacer

1/4 - 20 Hex Bolt

055 ) »

— www.namatek.com



~

Insulating <8

Spacer )
/ Shoulder Washer

/

Coupon

U-Bend Specm\en 7 _~Insulator

T
l
|
|
A I C
i =. 4 g%nuldor Washer
A9 /\J <l ’Ljf
>~/ \CQ

¢

G2 ) B L P52 (6)9 4bye (69 abgt Yoy )3 dlge 03395 )Li8)
2L &S (R digad (Judd> prad 4 2Dl dibly (63b) ywlyly Bl

~

5350 )h8 Glanyd 4 1L W9 inloj]

oo diSS (R Oy ) (i8S ) (5lp b digal jI (Hluiy plue
13gub i8S 413 ;5 b

Do Call g paduine b bawgl b digal Joo o @
AL Al wyiwd W (195 4 1L 61595 (slo baxo e

— www.namatek.com



B adbb aidld (553,95 ply 53 (58 Cloglio 1L Cuws S, o

A8 Jess 1y G lejl

Sl aSil R0 39 dgjal eolilh b 1 oSSl 5 51 3l o agas
BB Gizly 4 a5 Siblise jd LU b diges 3L aellas 390 SuwlglS

35550 518 S (i
o2 (SL S dg) (g Eiwaw 1-5#

D (533)95 p ©W)BS Hhie 4y ib)lew b Jgame (L (Sl i

m@&@WPTMWP\)WM’WOﬁl
@ 9 Jigdh (50 o3latiwl (635 ST b (5i3uelis]) Of 815,95 Gluogas

ol 39290 Slgo il 9 (935 S35 G@IV9S 9 (1) (W (59 L2 )90

— www.namatek.com



&y Juasl pus b el 2-5%

AS (50 83wl (Sl Jas wYlall jl gy Juasl Gum (gL Ehivaw
Mlo (152025 383 (50 8jl2l 9 30 (50 o 1) )lRpl 0 (i &S

L a4 iz )0)e )3 5293 S L9 9 (95 033)1aeSS
A9 (50> A9

Cam-lock fittings allow quick insertion of
coupon holders without the need for tools.

— www.namatek.com



529 (295 e 6#

5 51 g Mg aiibld oS5yl 45 3L (] WS @ 1L (265 uad

(]l SBIYIB (53)95 Gy inlejl )|

619 2L Gale dlgo g (0a€ 9 000 9 B WCauiy) 1IIS Ll dlgo
ol SO e (phS 3L pglio VoS bumo ply )d a5 gw ol

D9 (50 (553)38] ()90 Vg il b W 631> (408 Cauwd jl o yzin |yl

Gl ) 39 plail dide T 8l b (5295 Cawd (IS Hob @
S jl esliiwl b Blg5 (50 oS Jaumo 53 538)5 )L oloj 3l (L))l «3)lge

g Aolgs Lglho g Jiadj)l 3gdb pledl s S dbold (g0jT

,__,3.5)9.’9 (295 CaSldy TH#

203 :3)5 axgd alizo Elgil )3 lod 5o ) Lo (1295 ©0)0 4 diawny
Ll 004 631> Zuog Sy Jgamo sl 3ilyd 5l (S



Mill Finish

S |oss Beaded Finish

Coarse Grit Blasted Finish

Sanded Finish

Double Disc Ground Finish

Lapped Finish

— www.namatek.com



Mill Finish casls,y #7-1

D9 (50 o3l Clle (93,53 (gl 4 (gl Ygamoe cuslsy (ol
6l GOLO] JuaSS 3982 333)95 (i 051051 ) W (1395 aSal 1 3w
394 (503 pladl Lgue 53 pw I b ahw deip

oK )3 Cuwl (Sao (Aiiud Oluel Sy ghld &5 (W ()2

g (6523 pals 9 Ss> (WIhS Lz LdL)d
Glass Beaded wislsys #7-2

Uidlod (sl add aiyb (glo 0yg0 b 1395 Eolaw b diug) B> (gl
) b 55395 9 Clwl ulido 95,0 2L (gl Wiis 0yg0 . 3igid (50
h o yohs Al xbw W Had plad Cuwl (S Lol 350 ()
SO WByby

b 2w Clul ey b dwslio ) (gl ddaud (gl 0yg0 (5 (1295

IS (50 poh8 ) (6)5 )55 9 g
Coarse Grit Blasted wsls,y #7-3

s porinegl suwS| Al Cudd)d boamo SO jl 03latiwl b (395 2ol
gi).)laJldJ)m.oumm),olqu.)yoLrosmed.uugJU.))Juu)l
2 i) gl i gl O Zdaw S @ Cuwd Lol 394 (0 L xbw

Cawl
— www.namatek.com



)0 930 (50 o2 )l ) &lew (533)95 9 diwgy (Huizad Cud)yd Gl
yig (Uoly3 ABle) (sbaw Hads 88) )3 (gl diud (Gl Bl b duwnylio

Sanded w1y, 4-7#

0 1oy > Cgz dwlo g (b 318 SOl edlaiiwl L o (129
1% o)‘l.).’)l )‘l odlaiwl L C)|93 (5° |) a.b.w 133)] )‘I ! 6.))3.443 b .).)94»

)9l Cawd @ (i Lalizeo
Double Disc Ground cislsys #7-5

@w)bgwwwwbyw)}uwT&wgbwbwﬁ
13 Lol Cawl j5 H)S A0TH8 (.39 (50 dloul Lgs eslall Ggd sl

oo )b O 53 (6130155 L gl wSlsy &S (Slalleo lp 4jS
Ll Jle )b Cuwl

Lapped wislsys 6-7#

)huueb.wgi)b.bgwb,owbygi;u\)gi))lobb.uulbbwgf

) gl o plall ¢ryig) jl X2 09y 2l 1S Jdgs Blo g Blo
# oS 63 Siw dlaz 51 505 b g 4 Cams Lol AS (0 395

Cawl

— www.namatek.com



@23 LT (55395 (sl (1395 Iy



